TECO

TECO MOTORS ROTATE THE WORLD

TJVITALAE—S
Premium Motor

.....

AEHF/AEUF > ) — X

by 7S5 F—RH#E (IE3) b




BECOV I L B

2010 £ 12 B 19 A 5 FKE NIKE EISA JEICES Lz NEMA PREMIUM (IE3),
TAUBD - AFZ. BulNElFD IE3 E—2Z &ZIRFEH,
SRR, BEfihEERL. BRE—2F. EBR+EFEOEEAFFEEBELTH

DETDTC. BHENHEIEHRE—Z2V - AZREHLET,

dAILDOEEEY
SOTRORE L
THHRZER '

NBONERE
BB E R L 7o&RE

TLET7LE—RDOYE=E

JISC4034-30 ShE{E 4P 60HzH

90.0

1000

“+-IE2 +IE3

——a—a—

e A
N laall
“

-

-+-IE1
85.0

95.0
80.0
90.0

75.0

dB(A)
=3
=)

65.0

Efficiency(°6)
&
=

1=~
E=3
=

60.0

=
o1
=Y

55.0

=
=3
=

—_— 500
075 11 15 22 37 55 75 11 15 185 22 30 37 45 5 75 90 110
kw

page 2

= i E OB LR
EEATEHIET
KB E (R

TJLET7LE—FIDER

BEf 4P 60HzE

+El 3

B Bk 10dB(A)
i,

075 15 22 &7 55 75 11 15 185 22 30 37 45 55 75 90 110 132
kw




TECO L X7 LE—H EEMLKRR

kR AEHF
Fir& JISC 4034:2011 JISC 4213:2014 JEC2137-2000
) 0.2kW ~ 132kW
{Te 2, 4, 6
o 200V/200V/220V  F 7zl 400/400/440V  ( Z OMMETEEX )

BH AR

50Hz / 60Hz
TERE #HigE S1, SFE : 1.15at60Hz (S.F.: 1.0at50Hz)
BARR TECOud HGEd# — AT YL AMHE
Pk 63 ~ 280 M
M BT L— L\
lipéR) S & AR IM 1001
(Ri& E{ S PANEENI P44 EN (B> U —XH)
AN SERImAIE /e JC4  1C411
il FHER S JE#E— 15~ 40°C  {2/% 90% LN, #2% 1000m LA R
Bl fifii & 0 KT BRI (CCW)
T IR F—iE.

JERAI M3k 225(55KW - 4P) LUR Y —)V R &2 A T
—w TIVEH B 250 (55KW - 6P) LU

7)) — 2 <)V7 > 7 SRL

i & 0 BT E

W AZ AT

T
[ E1d 90 T L A IRZ Al e
S BTKWLLF 34 FAAD)
55kWLLE 64 FF 124K EA - AX—7 )V ZIHHE)A]
T U— FiREEI 27X (A7 3 T, mraasadinsg)
st 1| F &
R ~x>t)l 10G 5/10
:‘.h i"’l:.:':"w: s
ZOMT S IUBMEL TROEHET SV VR4 TE, L F LT
¥ LS e ek, i ., 2 )

page 3



Hepk & (ZER) AEHF /| AEUF

= LY EEF
D #® TN7y7 BA E GO
(%) (%) %) %FLT %FLT %FLT CODE kg-m
200 50 2865 81.5 82.5 81.5 83.0 755 61.5 3.20 25 0.255 280 270 340 IE3
2 200 60 80 3435 82.0 82.5 81.0 86.5 81.5 70.5 3.05 23 0.213 275 250 310 IE3 0.006
220 60 3470 83.0 83.5 81.5 82.5 75.0 62.5 2.87 25 0.211 335 300 380 IE3
200 50 1445 83.5 83.0 81.0 72.0 62.5 48.0 3.60 28 0.506 400 350 400 IE3
1 0.75 4 200 60 80 1730 85.5 85.5 84.5 77.0 68.5 55.0 3.29 26 0.422 350 300 360 IE3 0.013
220 60 1745 85.5 85.0 83.0 71.0 61.5 48.0 3.24 29 0.419 420 360 430 IE3
200 50 940 81.0 82.5 81.0 71.0 62.5 49.0 3.76 20 0.777 210 190 245 IE3
6 200 60 9oL 1130 82.5 84.0 83.5 76.0 69.5 57.0 3.45 17 0.646 170 150 210 IE3 0.022
220 60 1145 84.0 84.5 83.0 70.0 62.0 49.0 3.35 19 0.638 200 185 270 IE3
200 50 2895 85.5 87.0 86.5 85.0 78.0 65.0 5.96 53 0.505 285 270 365 IE3
2 200 60 90L 3480 86.0 87.0 87.0 87.5 83.0 73.0 5.75 49 0.420 255 245 320 IE3 0.012
220 60 3500 86.5 87.0 86.5 84.5 78.0 66.5 5.39 54 0.417 310 300 385 IE3
200 50 1450 86.0 86.0 84.5 76.0 67.5 54.0 6.63 53 1.008 310 260 350 IE3
2 15 4 200 60 9oL 1740 86.5 88.0 88.0 83.0 775 66.0 6.03 46 0.840 240 205 325 IE3 0.023
220 60 1750 87.5 88.0 87.0 775 69.5 56.5 5.80 51 0.835 295 250 395 IE3
200 50 965 86.0 86.5 85.5 66.0 57.0 445 7.63 45 1.514 200 190 270 IE3
6 200 60 100L 1155 88.5 88.0 87.5 71.0 65.0 53.0 6.89 40 1.265 160 150 225 IE3 0.059
220 60 1165 88.6 88.0 86.5 66.0 58.0 455 6.73 44 1.254 200 190 280 IE3
200 50 2905 86.0 87.5 86.5 83.0 75.0 62.5 8.90 78 0.738 310 295 420 IE3
2 200 60 Q0L 3485 87.0 88.0 87.5 87.5 82.5 72.0 8.34 73 0.615 260 250 370 IE3 0.014
220 60 3510 87.5 88.5 87.0 83.5 76.5 64.5 7.90 80 0.610 310 300 450 IE3
200 50 1455 87.5 87.5 86.0 76.5 67.0 54.0 9.49 89 1.473 415 310 420 IE3
3 2.2 4 200 60 100L 1750 89.5 90.0 89.0 82.5 76.0 64.0 8.60 86 1.224 320 225 350 IE3 0.050
220 60 1760 89.7 89.0 87.5 77.0 68.5 55.5 8.36 95 1.218 390 270 430 IE3
200 50 970 87.0 87.5 86.0 68.0 60.5 48.0 10.7 65 2.209 180 175 280 IE3
6 200 60 112M 1160 89.5 90.0 89.0 73.0 67.5 57.0 9.72 52 1.847 135 125 230 IE3 0.084
220 60 1170 89.6 89.5 87.0 68.0 61.0 49.0 9.48 57 1.831 170 160 280 IE3
200 50 2920 88.5 89.5 89.5 90.0 87.0 79.0 13.4 130 1.234 270 250 410 IE3
2 200 60 112M 3505 88.5 89.5 89.0 92.0 89.5 84.0 13.1 125 1.028 250 195 345 IE3 0.046
220 60 3525 88.7 90.0 89.5 90.0 86.5 785 12.2 138 1.022 305 240 420 IE3
200 50 1445 88.6 89.5 89.5 83.0 78.5 67.5 145 120 2.494 230 190 305 IE3
5 3.7 4 200 60 112M 1735 89.5 90.5 91.0 85.5 83.0 75.0 14.0 110 2.077 200 145 255 IE3 0.083
220 60 1750 90.0 90.5 90.5 83.0 78.5 68.5 13.0 121 2.059 235 175 315 IE3
200 50 965 87.5 88.0 88.0 775 72.0 60.0 15.8 110 3.735 195 180 270 IE3
6 200 60 1328 1160 89.5 90.2 90.0 80.5 76.5 67.0 14.8 0 3.107 150 135 225 IE3 0.154
220 60 1165 89.6 90.3 90.0 78.0 72.0 60.5 13.9 99 3.093 180 165 280 IE3
200 50 2935 90.5 915 91.0 85.5 81.0 73.0 20.5 165 1.825 230 185 305 IE3
2 200 60 132S 3520 90.5 91.0 90.5 87.0 85.0 80.0 20.2 140 1.522 200 145 255 IE3 0.075
220 60 3540 91.0 915 90.5 85.5 82.5 74.0 18.6 154 1.513 235 175 305 IE3
200 50 1470 91.0 91.0 90.0 78.5 70.5 58.0 22.2 205 3.644 330 260 375 IE3
75 55 4 200 60 132S 1765 92.0 92.5 91.5 84.5 79.5 69.5 20.4 175 3.035 290 210 325 IE3 0.143
220 60 1770 92.1 92.0 91.0 80.0 73.0 60.5 19.6 193 3.027 355 255 395 IE3
200 50 970 89.0 89.5 88.5 74.0 66.0 53.0 241 180 5.523 225 215 335 IE3
6 200 60 132M 1165 91.0 91.0 90.5 80.5 75.5 65.0 21.7 144 4,598 175 160 275 IE3 0.217
220 60 1175 91.1 91.2 90.0 75.0 68.0 55.0 211 158 4,559 230 210 345 IE3
200 50 2915 90.5 915 90.5 83.5 80.0 70.5 28.7 215 2.506 280 245 325 IE3
2 200 60 132S 3505 91.0 915 91.5 88.0 86.5 81.0 27.0 180 2.084 235 190 270 IE3 0.075
220 60 3525 915 91.5 91.0 86.0 82.5 74.0 25.0 198 2.072 285 235 330 IE3
200 50 1465 91.0 915 91.0 82.0 755 64.0 29.0 260 4.986 315 250 375 IE3
10 7.5 4 200 60 132M 1765 92.0 925 92.0 87.0 83.0 75.0 27.0 230 4139 270 200 310 IE3 0.173
220 60 1770 92.5 92.5 91.5 83.5 775 67.0 255 253 4127 325 240 375 IE3
200 50 970 90.0 90.5 90.0 79.0 73.5 61.5 30.5 220 7.531 270 235 280 IE3
6 200 60 160M 1165 91.0 915 91.0 81.0 77.0 68.0 29.4 190 6.270 225 190 235 IE3 0.484
220 60 1175 91.7 92.0 91.0 79.0 735 62.5 27.2 209 6.217 280 235 285 IE3
200 50 2935 91.7 92.5 92.0 90.5 89.0 84.0 38.3 290 3.650 230 185 270 IE3
2 200 60 160M 3520 91.0 915 91.0 91.0 90.5 87.0 38.3 260 3.044 195 160 235 IE3 0.183
220 60 3540 92.0 92.0 915 90.5 89.0 84.0 34.7 286 3.027 240 190 285 IE3
200 50 1470 92.0 92.5 91.5 81.0 74.5 63.0 42.6 340 7.288 270 220 325 IE3
15 1 4 200 60 160M 1765 924 93.0 92.5 86.0 82.5 74.0 40.0 300 6.070 235 180 270 IE3 0.367
220 60 1770 93.0 93.0 92.5 82.5 77.0 66.5 37.6 330 6.053 285 215 330 IE3
200 50 970 90.3 91.0 90.8 79.5 74.0 63.0 442 320 11.05 295 255 285 IE3
6 200 60 160L 1160 91.7 915 91.3 82.0 80.0 72.0 422 280 9.236 235 200 240 IE3 0.630
220 60 1170 91.8 92.0 915 80.0 75.0 64.0 39.3 308 9.157 280 240 290 IE3

page 4



Pk & (ZEHR) AEHF / AEUF

127

& & 3 EN- A TR B TL7vT BRKE

50%  100%

(%) (%) kg-m  %FLT  %FLT  %FLT CODE

200 50 2945 92.0 92.5 92.0 90.0 86.0 80.5 52.3 465 4.961 280 230 330 IE3
2 | 200 | 60 |160M| 3535 | 925 | 925 | 920 | 91.0 | 900 | 860 | 514 | 400 | 4.133 | 240 195 285 | IE3 | 0.205
220 | 60 3550 | 930 | 930 | 920 | 900 | 875 | 81.0 | 470 | 440 | 4115 | 295 235 350 | IE3
200 50 1470 92.4 93.0 92.5 83.0 78.0 67.5 56.5 475 9.939 295 255 315 IE3
20 | 15 | 4 | 200 | 60 |160L| 1765 | 930 | 935 | 925 | 870 | 840 | 755 | 535 | 400 | 8.278 | 250 220 270 | IE3 | 0.460
220 | 60 1770 | 932 | 935 | 930 | 840 | 795 | 695 | 503 | 440 | 8.254 | 300 270 325 | IE3
200 50 975 91.2 92.0 92.5 82.5 78.5 68.5 57.6 385 |[14.985| 240 185 255 IE3
6 200 60 180M 1170 91.7 92.0 92.5 84.0 82.5 77.0 56.2 330 |[12.487 | 200 155 205 IE3 1.342
220 | 60 1175 | 920 | 930 | 928 | 830 | 795 | 700 | 516 | 363 |12.434| 250 195 250 | IE3
200 | 50 2935 | 924 | 930 | 925 | 900 | 8.5 | 785 | 642 | 570 | 6.139 | 290 235 330 | IE3
2 200 60 160L 3530 92.5 93.0 92.5 91.5 90.0 85.5 63.1 500 5.105 250 200 280 IE3 0.237
220 | 60 3545 | 930 | 932 | 925 | 900 | 875 | 81.0 | 580 | 550 | 5.083 | 305 240 345 | IE3
200 | 50 1475 | 930 | 933 | 930 | 840 | 795 | 695 | 684 | 520 |12.216| 265 205 300 | IE3
25 | 185 4 200 60 180M 1765 93.6 94.0 94.0 87.5 86.0 80.5 65.2 450 [10.209 | 225 185 250 IE3 0.707
220 | 60 1775 | 940 | 945 | 940 | 855 | 820 | 735 | 604 | 495 |10.152| 275 225 300 | IE3
200 | 50 980 925 | 930 | 925 | 810 | 7565 | 650 | 713 | 550 |18.387| 285 240 310 | IE3
6 | 200 | 60 |180L| 1175 | 930 | 932 | 928 | 840 | 815 | 730 | 684 | 480 |15.335| 230 175 255 | IE3 | 1.725
220 60 1180 93.5 93.6 93.0 82.0 77.0 67.0 63.3 528 |15.270| 280 210 300 IE3
200 | 50 2955 | 930 | 935 | 925 | 900 | 875 | 815 | 759 | 670 | 7.251 | 285 265 335 | IE3
2 | 200 | 60 |180M| 3550 | 930 | 932 | 925 | 91.0 | 905 | 860 | 750 | 595 | 6.036 | 235 180 305 | IE3 | 0.330
220 60 3555 93.5 93.5 92.5 90.0 88.5 81.5 68.6 655 6.028 285 220 370 IE3
200 | 50 1475 | 936 | 940 | 935 | 810 | 765 | 665 | 838 | 600 |14.527 | 235 190 275 | IE3
30 | 22 | 4 | 200 | 60 |180M| 1770 | 940 | 945 | 940 | 850 | 80 | 77.0 | 795 | 535 |12.106| 200 155 225 | IE3 | 0812
220 60 1780 94.2 94.5 93.5 83.0 79.5 70.5 73.8 589 |[12.038 | 245 190 275 IE3
200 50 980 92.5 93.0 92.5 775 71.0 59.0 88.6 690 |21.865| 300 250 320 IE3
6 | 200 | 60 |180L| 1175 | 930 | 932 | 930 | 840 | 800 | 720 | 81.3 | 590 |18.237| 255 205 260 | IE3 | 1917
220 | 60 1180 | 935 | 935 | 930 | 810 | 755 | 645 | 762 | 649 |18.159| 320 255 325 | IE3
200 50 2950 93.5 94.0 93.8 91.0 90.0 85.5 102 870 9.905 270 210 305 IE3
2 | 200 | 60 |180L| 3540 | 930 | 935 | 930 | 925 | 915 | 890 | 101 | 760 | 8.254 | 230 180 250 | IE3 | 0.434
220 | 60 3550 | 936 | 938 | 935 | 920 | 905 | 860 | 914 | 836 | 8.231 | 280 215 305 | IE3
200 50 1475 93.8 94.0 93.5 82.5 78.5 69.5 112 810 [19.810| 230 160 280 IE3
40 30 4 200 60 180L 1770 941 94.5 94.0 85.5 84.5 79.5 108 700 |16.508 | 200 160 230 IE3 1.005
220 | 60 1775 | 945 | 945 | 940 | 840 | 805 | 725 | 992 | 770 |16.462| 250 190 270 | IE3
200 | 50 980 929 | 931 | 925 | 795 | 740 | 635 | 117 | 800 |29.816| 250 195 255 | IE3
6 200 60 200L 1175 941 94.5 94.2 87.0 85.5 79.5 106 655 |24.868 | 205 155 205 IE3 3.140
220 | 60 1180 | 942 | 941 | 935 | 840 | 805 | 715 | 995 | 721 |24.763| 250 185 250 | IE3
200 | 50 2965 | 937 | 940 | 938 | 890 | 8.5 | 815 | 128 | 1055 |12.154| 170 155 300 | IE3
2 200 60 200L 3560 93.8 94.0 93.0 91.0 90.0 86.0 125 870 [10.123| 135 125 255 IE3 1.131
220 | 60 3565 | 940 | 940 | 935 | 905 | 89.0 | 840 | 114 | 957 [10.109| 170 155 310 | IE3
200 | 50 1480 | 945 | 950 | 945 | 850 | 8.0 | 735 | 133 | 975 |24.350| 215 185 270 | IE3
50 | 37 | 4 | 200 | 60 |200L| 1775 | 948 | 950 | 945 | 87.5 | 8.0 | 80.5 | 129 | 840 |20.303| 180 160 220 | IE3 | 1.896
220 60 1780 95.2 95.2 94.5 86.0 83.0 75.0 119 924 | 20.246 | 220 195 270 IE3
200 | 50 980 935 | 935 | 930 | 840 | 805 | 715 | 136 | 880 |36.773| 230 185 245 | IE3
6 | 200 | 60 |200L| 1180 | 941 | 945 | 943 | 870 | 8.5 | 800 | 130 | 780 |30.541| 195 160 200 | IE3 | 3.605
220 60 1185 94.2 94.5 93.5 85.0 81.5 73.0 121 858 |30.412| 245 200 240 IE3
200 | 50 2065 | 941 | 945 | 940 | 905 | 880 | 825 | 153 | 1290 |14.782| 185 165 305 | IE3
2 | 200 | 60 |200L| 3555 | 938 | 940 | 935 | 920 | 910 | 880 | 151 | 1080 |12.329| 145 135 260 | IE3 | 1.300
220 60 3560 94.0 94.2 93.5 90.5 90.0 86.0 139 1188 [12.312 | 175 160 300 IE3
200 50 1480 94.5 95.0 94.5 82.5 78.5 69.5 167 1170 |29.615| 215 180 290 IE3
60 | 45 | 4 | 200 | 60 |200L| 1775 | 950 | 950 | 945 | 87.0 | 850 | 800 | 157 | 995 |24.693| 185 155 225 | IE3 | 2.061
220 | 60 1780 | 954 | 952 | 945 | 845 | 815 | 735 | 146 | 1095 | 24.624| 220 185 275 | IE3
200 50 985 94.0 94.5 94.0 84.0 80.0 71.0 165 1300 |44.497 | 260 235 290 IE3
6 | 200 | 60 |2255| 1180 | 945 | 945 | 940 | 87.0 | 850 | 790 | 158 | 1100 |37.144| 210 185 225 | IE3 | 5.106
220 | 60 1185 | 946 | 945 | 940 | 855 | 815 | 730 | 146 | 1210 | 36.987 | 265 235 275 | IE3
200 50 2965 94.5 95.0 95.0 91.0 90.0 86.5 185 1400 |18.067 | 160 150 305 IE3
2 200 60 2258 3560 94.0 95.0 94.5 91.5 91.0 90.0 185 1190 |15.048 | 135 130 240 IE3 1.547 _._P“..-."...
75 | s 220 | 60 3570 | 945 | 950 | 945 | 910 | 905 | 87.0 | 168 | 1309 |15.006| 165 160 290 | IE3 = "i"
200 | 50 1485 | 950 | 955 | 950 | 860 | 85 | 77.0 | 194 | 1450 | 36.074| 270
4 200 60 2258 1780 95.4 95.5 95.0 87.5 86.5 82.5 190 1310 | 30.096 | 240
220 | 60 1785 | 955 | 955 | 945 | 865 | 845 | 785 | 175 | 1441 |30.011| 290
T
A%
Note: 1|

1. The above are typical values based on test according to JIS C 4034-2-1.
2. Breakdown & Locked rotor torques are show as average expected values.
3. Tolerance According to JIS C 4213. Ly
4. Efficiency, power factor, speed and torque are the same for other voltages. Current values vary mversely with voltage.
5. Data subject to change without notice.

page 5



4%k & (TOP RUNNER) AEHF / AEUF

1%

R w® TL7vT &K

kg-m  %FLT  %FLT  %FLT s
200 | 50 985 | 94.1 | 945 | 942 | 825 | 78.0 | 69.0 | 205 | 1370 | 54.386 | 195 165 275 IE3
75 | 55 | 6 | 200 | 60 |250S | 1180 | 94.0 | 945 | 942 | 86.5 | 845 | 78.0 | 195 | 1150 | 45398 | 155 135 240 IE2 6.492
220 | 60 1185 | 950 | 955 | 945 | 83.0 | 795 | 71.0 | 183 | 1260 | 45.207 | 190 165 260 IE3
200 | 50 2060 | 94.7 | 945 | 940 | 865 | 845 | 78.0 | 264 | 1750 | 24.679 | 135 115 285 IE3
2 [ 200 | 60 |250S | 3555 | 941 | 94.0 | 93.7 | 90.5 | 90.0 | 88.0 | 254 | 1500 | 20.549 | 115 105 230 IE3 1.759
220 | 60 3565 | 945 | 945 | 940 | 885 | 87.0 | 82.0 | 235 | 1650 | 20.491 | 140 120 285 IE3
200 | 50 1480 | 950 | 951 | 945 | 87.0 | 845 | 77.0 | 262 | 1820 | 49.358 | 180 135 295 IE3
100 | 75 | 4 | 200 | 60 |250S | 1775 | 95.1 | 945 | 935 | 89.0 | 86.0 | 81.0 | 256 | 1700 | 41.155 | 170 125 245 IE2 4.853
220 | 60 1780 | 954 | 95.0 | 935 | 86.0 | 845 | 78.0 | 240 | 1870 | 41.039 | 190 150 300 IE3
200 | 50 985 | 94.6 | 945 | 94.0 | 85.0 | 83.0 | 75.0 | 269 | 1700 | 74.162 | 185 160 260 IE3
6 | 200 | 60 |250M | 1180 | 94.3 | 94.0 | 93.7 | 86.5 | 86.0 | 81.0 | 265 | 1470 | 61.907 | 155 130 210 IE2 8.175
220 | 60 1185 | 950 | 945 | 94.0 | 86.0 | 835 | 76.0 | 241 | 1620 | 61.646 | 185 160 250 IE3
200 | 50 2970 | 95.0 | 952 | 94.0 | 87.5 | 85.0 | 79.0 | 313 | 2540 | 29.515 | 160 140 335 IE3
2 | 200 | 60 |250M | 3565 | 945 | 94.6 | 93.5 | 89.5 | 90.0 | 87.0 | 307 | 2250 | 24.589 | 135 115 255 IE2 2.287
220 | 60 3575 | 95.0 | 94.8 | 935 | 89.0 | 87.0 | 82.0 | 279 | 2470 | 24520 | 135 140 310 IE3
200 | 50 1480 | 952 | 945 | 945 | 88.0 | 86.0 | 78.0 | 310 | 2660 | 59.230 | 205 185 295 IE3
125 | 90 | 4 | 200 | 60 |250M | 1780 | 951 | 95.0 | 94.8 | 88.0 | 85.0 | 81.0 | 310 | 2310 | 49.247 | 180 155 250 IE2 6.111
220 | 60 1785 | 954 | 955 | 95.0 | 86.0 | 83.0 | 75.0 | 288 | 2540 | 49.109 | 200 185 305 IE3
200 | 50 985 | 949 | 950 | 945 | 815 | 765 | 66.0 | 336 | 2800 | 88.995 | 280 240 265 IE3
6 |200| 60 |280S | 1180 | 95.0 | 95.2 | 95.0 | 885 | 86.0 | 82.0 | 309 | 2340 | 74.288 | 240 175 210 IE3 15.080
220 | 60 1185 | 952 | 955 | 952 | 850 | 83.0 | 76.0 | 292 | 2600 | 73.975 | 280 210 250 IE3
200 | 50 2970 | 952 | 95.0 | 945 | 855 | 81.5 | 75.0 | 390 | 2560 | 36.074 | 200 180 250 IE3
2 | 200 | 60 |280S | 3565 | 95.0 | 94.5 | 94.0 | 92.0 | 90.0 | 88.0 | 363 | 2200 | 30.053 | 160 140 210 IE3 4.027
220 | 60 3570 | 95.2 | 95.0 | 94.5 | 90.0 | 87.0 | 82.0 | 337 | 2420 | 30.011 | 190 170 250 IE3
200 | 50 1480 | 954 | 95.0 | 945 | 86.0 | 84.0 | 78.0 | 387 | 3000 | 72.392 | 180 160 230 IE3
150 | 110 | 4 | 200 | 60 | 280S | 1780 | 95.8 | 955 | 95.0 | 90.0 | 88.0 | 83.0 | 368 | 2610 | 60.191 | 180 160 220 IE3 9.180
220 | 60 1785 | 958 | 95.8 | 955 | 88.0 | 86.0 | 81.0 | 342 | 2900 | 60.022 | 210 190 260 IE3
200 | 50 985 | 951 | 953 | 951 | 86.0 | 83.0 | 75.0 | 388 | 3000 | 108.77 | 270 210 240 IE3
6 | 200 | 60 |280M | 1180 | 95.4 | 955 | 950 | 90.0 | 89.0 | 85.0 | 370 | 2610 | 90.797 | 220 165 200 IE2 17.294
220 | 60 1185 | 958 | 95.7 | 95.3 | 88.0 | 86.0 | 80.0 | 342 | 2900 | 90.414 | 260 190 240 IE3
200 | 50 2970 | 95.4 | 955 | 95.0 | 88.0 | 87.0 | 81.0 | 454 | 2830 | 43.289 | 200 180 240 IE3
2 | 200 | 60 |280M | 3560 | 95.4 | 95.0 | 94.5 | 90.0 | 89.0 | 85.0 | 444 | 2400 | 36.115 | 160 140 200 IE3 4,552
220 | 60 3570 | 95.4 | 952 | 947 | 88.0 | 86.0 | 83.0 | 413 | 2650 | 36.013 | 190 165 240 IE3
175 | 182 200 | 50 1480 | 956 | 952 | 95.0 | 89.0 | 88.0 | 81.0 | 448 | 3150 | 86.870 | 170 150 210 IE3
4 | 200 | 60 |280M | 1780 | 95.8 | 95.0 | 94.8 | 90.0 | 88.0 | 84.0 | 442 | 2770 | 72.229 | 160 140 200 IE2 10.400
220 | 60 1785 | 962 | 955 | 95.0 | 88.0 | 86.0 | 82.0 | 409 | 3050 | 72.027 | 190 165 240 IE3
Note:

1. The above are typical values based on test according to ANSI/IEEE Standart 112 method B.
2. Breakdown & Locked rotor torques are show as average expected values.
3. Tolerance According to IEC 60034-1.
4. Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.
5. Data subject to change without notice.

page 6



Designation of international Mounting (IM), refers to IEC 60034-7

Foot Mounted

IM 1001 (IM B3) == ) Horizontal Shaft Foot mounted.

IM 1011 (IM V5) ' Vertical Shaft Wall mounted. Shaft down.

ll
Flange Mounted

Horizontal Shaft ‘D* type flange at
D.E. no feet.

IM 3001 (IM B5)

Vertical Shaft ‘D’ type flange at

IM 3011 (IM V1) | D.E. Shaft down. no feet.

IM 3601 (IM B14)

’_l‘ Horizontal Shaft ‘C* type flange at
=l D.E. no feet.

Vertical Shaft ‘C’ type flange at
D.E. Shaft down. no feet.

LN
Foot / Flange Mounted

Horizontal Shaft ‘D* type flange at
D.E. Foot mounted.

IM 3611 (IM V18) i

IM 2001 (IM B35)

Horizontal Shaft ‘C* type flange at

IM 2101 (IM B34) D.E. Foot mounted.

Il




&K ERTIER

Totally Enclosed Fan - Cooled Type, Squirrel - Cage Rotor.

Dimension in mm

L AD IL, AD
AC
= e ED
oo S |2 =EN=]IntNre. @
s e = e
= = iy
i Q @3; L m7 ¥ %_}%ﬂﬁ fac| U; \ A
TIT TIT : mJ T J [ T li—‘b‘ m
AE AA
LE B @ |7 LE B @ A Jrupd
BIE @KK HOLE B3 @KK HOLE AB
__4-QK HOLES 4-9K HOLES —lEhy
1 i # ; E 5
o o <] )
FIG.1 DH TAP oD FIG.2 DH TAP 0

Output (kW) FRAME
P 4P SIZE
02 | 02 | - 63 100 | 28.0 | 120 | 144 | 123 | 93 | 80 | 100 | 40 | 63 | 80 | 135 | - | 29
04 | 04 | - 71 112 | 355 | 140 | 162 | 133 | 103 | 90 | 115 | 45 | 71 | 80 | 152 | - | 54
0.75 | 075 | 0.4 80 U | 125 | 355 | 155 | 177 | 144 | 112 | 100 | 130 | 50 | 80 | 9.0 | 168 - | 55
15 115 s 90L 140 | 355 | 170 | 200 | 157 | 125 | 125 | 150 | 56 | 90 |10.0| 190 | - | 65
- 22|15 100L 160 | 45.0 | 195 | 219 | 180 | 145 | 140 | 175 | 63 | 100 | 125| - | 243 | 71
37 | 37 | 22 | 112m 190 | 45.0 | 224 | 238 | 189 | 154 | 140 | 175 | 70 | 112 | 140| - | 265 | 83
2

55 | 55 | 87 1328 216 | 45.0 | 250 | 273 | 225 | 180 | 140 | 175 | 89 | 132 | 160 | - | 310 | 83
- | 75 | 55| 132M 216 | 45.0 | 250 | 273 | 225 | 180 | 178 | 212 | 89 | 132 | 160 | - | 310 | 83
SHAFT EXTENSION BEARING APPROX

WEIGHT

ED F G GA pH  DRIVEEND SPFOSITE - “ias

63 @7 | @22 |2190| 760 | 11 | 23 | 18 | 4 | 85 | 125| M4x8 | 620122 | 620122 8.5
71 @7 | @22 |2505| 855 | 14 | 30 | 24 | 5 | 11.0|160| Msx10 | 620227 | 620222 15
80 010 | @22 2820 920 | 19 | 40 | 25 | 6 |155|215| Méxi2 | 62047Z | 620427 17.0
90L 010 | @22 3325 101.5| 24 | 50 | 32 | 8 |200|27.0| Mexi6 | 62052Z | 620527 24.0
100L | @12 | @28 |3745|1115| 28 | 60 | 40 | 8 |240 | 31.0| Mi0x20 | 62062z | 630522 38.0
112M | 012 | 028 3910|1210 28 | 60 | 40 | 8 | 240|310 Mioxe0 | 63062z | 630622 46.0
1328 | @12 | 035 | 4540|1450 38 | 80 | 64 | 10 | 330 410| Mi224 | 63082z | 630622 68.0
132M | @12 | 035 |492.0|1450 38 | 80 | 64 | 10 |330|41.0| Mi2x24 | 63082Z | 630622 79.0

Note:

1. Tolerance of Shaft End Diameter D: @11 ~ @28 : J6, @38 : K6 .
2. Tolerance of Shaft Center Height H: +0, -0.5.

page 8



Totally Enclosed Fan - Cooled Type, Squirrel - Cage Rotor.

L AD L
ED | AC ED|
%E |
% Pem ™ L‘—\
— — = w W& i )|
ﬂ—;@ i 2 = = TECO ey
. = S ‘ | o
: SCEWENE N = 5
jmo| —= =} 24}
e { /& e :
AE AA
LE B L A g BT LE B (e
133 KK HOLE A BB GKK HOLE
4-K HOLES |/ ﬁife 40K HOLES
o 3
DH TAP oD DH TAP oD
FIG.3 FIG.4

Dimension in mm

Output (kW)
2P 4P 6P
] s 160M X 254 | 50 | 300 | 334 | 263 | 218 | 210 | 250 | 108 | 160 | 18 | 377 | 108
18515 | 11 160L 254 | 50 | 300 | 334 | 263 | 218 | 254 | 300 | 108 | 160 | 18 | 377 | 108
2 | - | - 180MA 4 279 | 75 | 355 | 382 | 305 | 250 | 241 | 389 | 121 | 180 | 22 | 431 | 119
- 183 15 180MC 3 279 | 75 | 355 | 382 | 305 | 250 | 241 | 389 | 121 | 180 | 22 | 431 | 119
30| - | - 180LA 4 279 | 75 | 355 | 382 | 305 | 250 | 279 | 389 | 121 | 180 | 22 | 431 | 119
- 80| 85 180LC 3 279 | 75 | 355 | 382 | 305 | 250 | 279 | 389 | 121 | 180 | 22 | 431 | 119
T1- - 200LA 4 318 | 80 | 400 | 458 | 362 | 299 | 305 | 400 | 133 | 200 | 25 | 499 | 129
-3 200LC 3 318 | 80 | 400 | 458 | 362 | 299 | 305 | 400 | 133 | 200 | 25 | 499 | 129
55 | - | - 225SA 4 356 | 100 | 450 | 510 | 411 | 337 | 286 | 415 | 149 | 225 | 30 | 550 | 153
_ 55| 45 2255C 3 356 | 100 | 450 | 510 | 411 | 337 | 286 | 415 | 149 | 225 | 30 | 550 | 153
SHAFT EXTENSION BEARING APPROX.
WEIGHT
ED F G GA pRIVEEND SFFOSTE " “kas
160M | ©14.5| @35 | 608.0 |180.0| 42 | 110 | 80 | 12 | 37.0 | 450 | Miex32 | 6309ZZ 630722 125
160L | ©145| @35 | 652.0 |180.0| 42 | 110 | 80 | 12 | 37.0 | 450 | Miex32 | 6309ZZ 630722 140
180MA | ©14.5| @52 | 710.0 |238.0| 48 | 110 | 80 | 14 | 425 |515| Mi6x32 | 63112ZC3 | 63102ZC3 235
180MC | @145| @52 | 7100 |238.0| 48 | 110 | 80 | 14 | 425 51.5| Miex32 | 63112z 631022 250
180LA | @145| @52 | 7640 |254.0| 55 | 110 | 80 | 16 | 49.0 | 59.0 | M20x40 | 63122ZC3 | 6310ZZC3 240 |
180LC | @14.5| @52 | 764.0 |254.0| 55 | 110 | 80 | 16 | 49.0 | 500 M20x40 | 631227 631022 255  [midmitam
200LA | ©185| @65 | 8095 |261.5| 55 | 110 | 80 | 16 | 49.0 | 59.0 | M20x40 | 63127ZC3 | 62127ZC3 55 LY}
200LC | 0185| @65 | 839.5 |261.5| 60 | 140 | 110 | 18 | 53.0 | 64.0 | M20x40 | 63142Z 621277 385
205SA | 0185 092 | 850.0 |305.0| 55 110 | 80 | 16 | 49.0 | 59.0 | M20x40 | 63127ZC3 | 62127ZC3 470
205SC | @185| @92 | 880.0 |305.0| 65 | 140 | 110 | 18 | 58.0 | 69.0 | M20x40 | 631527 621327 500
Note: a 'i ' « g
1. Tolerance of Shaft End Diameter D : @42 ~ @48 : k6, @55 ~ @65 : m6 . ruelf

2. Tolerance of Shaft Center Height H:+0, -0.5.




&K ERTIER

Totally Enclosed Fan - Cooled Type, Squirrel - Cage Rotor.

iL, AD i L AD
ED AC
P ED IS
& 3 : g 2 2 s T
{ l =
N
= a a
| TEC® |, Dﬁrﬁ T | TEC® | e ,
e 7] N N % )4 8
& e &, 7 | W15 e
Tl e—r?, ac 9 g & i TR il
1 ES ] B L@ ug |AE | }AA i l B | AA|
BB \ A | LESS|R RS £ BE TR
@KK HOLE AB BB @KK HOLE AB
4-@K HOLES 4-@K HOLES
F F
a'_'k 4'_'?
© \3\ 5 O DS
DHTAP / @D DHTAP / @D
FIG.5 FIG.6

Dimension in mm

Output (kW)
P 4P 6P
75 | - | - 250SA 6 406 | 110 | 500 | 545 | 499 | 384 | 311 | 385 | 168 | 250 | 32 | 612 | 139
- | 75 | 5 250SC 5 406 | 110 | 500 | 545 | 499 | 384 | 311 | 385 | 168 | 250 | 32 | 612 | 139
0 - | - 250MA 6 406 | 110 | 500 | 545 | 499 | 384 | 349 | 480 | 168 | 250 | 32 | 612 | 139
- | o | 75 250MC 5 406 | 110 | 500 | 545 | 499 | 384 | 349 | 480 | 168 | 250 | 32 | 612 | 139
SHAFT EXTENSION BEARING APPROX
WEIGHT
ED F G GA pRIVEEND SFFOSITE “kas
250SA | @24 | @92 | 8525 | 2635 | 55 | 110 | 80 | 16 | 49.0 | 59.0 | M20x40 | 6313C3 | 6313C3 500
250SC | 024 | 092 | 8825 | 2635 | 75 | 140 | 110 | 20 | 675 | 795 | M20x40 | NU316 6313 565
250MA | @24 | @92 | 947.5 | 3205 | 55 | 110 | 80 | 16 | 490 | 59.0 | M20x40 | 6313C3 | 6313C3 590
250MC | @24 | @92 | 977.5 | 38205 | 75 | 140 | 110 | 20 | 67.5 | 795 | M20x40 | NU316 6313 640
Note:

1. Tolerance of Shaft End Diameter D : @55 ~ @75 : m6 .
2. Tolerance of Shaft Center Height H: +0, -0.5.

page 10



Totally Enclosed Fan - Cooled Type, Squirrel - Cage Rotor.

LE

GA

FIG.7

Dimension in mm

Output (kW)
P 6P
10| - | - 2808 457 | 110 | 560 | 625 | 610 | 455 | 305 | 368 | 110 | 445 | 190 | 55 | 110
- |110| 90 | 2808 457 | 110 | 560 | 625 | 610 | 455 | 305 | 368 | 110 | 445 | 190 | 85 | 170
“32| - | - | 280M ! 457 | 110 | 560 | 625 | 610 | 455 | 305 | 419 | 130 | 495 | 190 | 55 | 110
- | 132|110 280Mm 457 | 110 | 560 | 625 | 610 | 455 | 305 | 419 | 130 | 495 | 190 | 85 | 170
BEARING APPROX.
WEIGHT
pRIvEEND OPPOSITE  “yas
280S | 80 | 104 | 16 | 49 | 59 | 280 | 36 | 710 | 91 | 24 |1012 | 344 | 6314C3 | 6314C3 680
280S | 140 | 157 | 22 | 76 | 90 | 280 | 36 | 710 | 91 | 24 |1072| 344 | NU320 6316 750
280M | 80 | 104 | 16 | 49 | 59 | 280 | 36 | 710 | 91 | 24 |1012| 343 | 6313C3 | 6313C3 725
280M | 140 | 157 | 22 | 76 | 90 | 280 | 36 | 710 | 91 | 24 | 1072 | 343 | NU316 6313 815

| |
Note:
1. Tolerance of Shaft End Diameter D : m6 .
2. Tolerance of Shaft Center Height H: +0, -1.
3. Usable Shaft Length : EE.
4. *For Direct Flexible Coupling.




&K ERTIER

Totally Enclosed Fan - Cooled Vertical Type, Squirrel - Cage Rotor.

DAC

LB

LD

Dimension in mm

Output (kW)

a
ki
2
¥
<
) o
DH Tap @D

4-0S Holes

"ip

AE

AD

[0}

>

©

HB

=
Toa]
@)
[}

LB

=
—
B
N

o
5

i

OKK Hole

450

551

FRAME  FIG.

o | SIZE  NO.
02 | 02 | - 63 144 | 123 | 93 | - | 22 | 2480 | 12 | 2250 | 74 | 130 | 110 | 160

1
04 | 04 | - 71 162 | 133 | 103 | - | 22 | 2775 | 12 | 2475 | 82 | 130 | 110 | 160
0.75 | 0.75 | 0.4 80 2 | 177 | 144 | 112 | - | 22 | 2820 | 12 | 2420 | 60 | 165 | 130 | 200
Yo 15 o5 oL 3 | 200 | 157 | 125 | - | 22 | 3715 | 12 | 3215 | 113 | 165 | 130 | 200
- |22 | 15 | 100L | 2 | 219 | 180 | 145 | 140 | 28 | 3745 | 16 | 3145 | 88 | 215 | 180 | 250
37 | 37 | 22 | 12M | 3 | 238 | 189 | 154 | 150 | 28 | 431.0 | 16 | 371.0 | 135 | 215 | 180 | 250
>2 55 | 37 | 1328 | 2 | 273 | 224 | 180 | 169 | 35 | 4540 | 20 | 3740 | 97 | 265 | 230 | 300
- | 75| 55 | 18%M | 2 | 273 | 224 | 180 | 169 | 35 | 4920 | 20 | 4120 | 116 | 265 | 230 | 300
SHAFT EXTENSION BEARING AR
WEIGHT

OPPOSITE

F G GA DRIVEEND oo =% n KGS
63 100 35| 11| 23 | 18 | 4 | 85 | 125 M4x8 620122 620122 9.5
71 100 |35 | 14 | 30 | 24 | 5 | 110 | 160 M5x10 620222 620222 125
80 120 | 35|19 | 40 | 25 | 6 | 155 | 215 M6x12 620422 620422 19.0
90L 120 | 35 | 24 | 50 | 32 | 8 | 200 | 27.0 M8x16 620522 620522 27.0
100L | 145 40 28 | 60 | 40 | 8 | 240 | 31.0 |  M10x20 620622 630522 40.0
M2M | 145 |40 | 28 | 60 | 40 | 8 | 240 | 31.0 |  M10x20 630622 630622 51.0
1325 | 145 40 |38 | 80 | 64 | 10 | 330 | 410 | Mi12x24 630822 630622 73.0
132M | 145 | 40 | 38 | 80 | 64 | 10 | 330 | 41.0 |  Mi2x24 630822 630622 84.0

Note:

1. Tolerance of Shaft End Diameter D : @11~@028 : j6, @38 : k6
2. Tolerance of N:j6

page 12



Totally Enclosed Fan - Cooled Vertical Type, Squirrel - Cage Rotor.

BAC

DAC

KHB

HB )

( HB HB\

B e e el

LD
1
LA
LD

Ty 1T
j:

OKK Hole @KK Hole
m |l
D
ol U L)
o Al E 2 o 2 E
g & g < £ g 5 g
¢ 7N ,J]\ Sl \ ,J]\
@ N n 4 D 5 0 | %e Iy FaRY 3
~\y\& 1 \Z ’j/ 1 % © \Z sy
R DH Tap oD DH Tap oD
4-@S Holes 4-@S Holes
FIG.4 FIG.5

Dimension in mm

Output (kW)
2P 4P 6P
Nl 1| s 160M , |93 263|218 217 | 35 | 608 | 20 | 498 | 1510 | 300 | 250 | 350
185 | 15 | 11 160L 334 | 263 | 218 | 217 | 35 | 652 | 20 | 542 | 1730 | 300 | 250 | 350
2 | - | - 180MA 382 | 305 | 250 | 241 | 52 | 710 | 20 | 600 | 189.5 | 350 | 300 | 400
- 185 15 | 18ome 382 | 305 | 250 | 241 | 52 | 710 | 20 | 600 | 1895 | 350 | 300 | 400
30 | - | - 180LA ® [as2 | 305 | 250 | 241 | 52 | 764 | 20 | 54 | 2165 | 350 | 300 | 400
- | s | 185 1soc 382 | 305 | 250 | 241 | 52 | 764 | 20 | 654 | 2165 | 350 | 300 | 400
EXTENSION BEARING APPROX.
WEIGHT
G GA DRIVEEND ~ OPPOSTTE KGS
160M 185 | 5 | 42 | 110 | 80 | 12 | 37.0 | 450 |  Mi6x32 630927 630722 133
160L 185 | 5 | 42 | 110 | 80 | 12 | 37.0 | 450  Miex32 630927 630722 148
180MA | 185 | 5 | 48 | 110 | 80 | 14 | 425 | 515 | M16x32 631122C3 | 63102ZC3 235
180MC | 185 | 5 | 48 | 110 | 80 | 14 | 425|515 |  M16x32 631122 631022 250
180LA | 185 | 5 | 55 | 110 | 80 | 16 | 49.0 | 59.0 | M20x40 631222C3 | 63102ZC3
180LC | 185 | 5 | 55 | 110 | 80 | 16 | 49.0 | 59.0 | M20x40 631227 631022
Note: g
1. Tolerance of Shaft End Diameter D : @42~@48 : k6, 055-®6¢§_‘: m6 i
2. Tolerance of N:j6 N T

£ e

- gt e




&K ERTIER

Totally Enclosed Fan - Cooled Vertical Type, Squirrel - Cage Rotor.

Gl \

BAC

/ HB HB

@AC

l/HB

(

3
,

(=]

= <

gl I

— SRS
& e -
Rl =
ON
oP
@KK Hole
@KK Hole ﬁ ]
B A ;
2 & # =
2 F 9 F
e \ e
M\
] I /f‘ A g o r‘i\\ 5 1 (eld 3 o an N
3 Z MTAL R 72y I
DH Tap oD ) DH Tap a0
8-@S Holes
8-@S Holes % {
FIG.6 FIG.7

Dimension in mm

Output (kW)
2P 4P 6P
- - 200LA 458 | 362 | 299 | 286.0 | 65 | 809.5 | 20 | 6995 | 2120 | 400 | 350 | 450
- 3% 2000 o | 458 | 362 | 209 2860 65 | 8395 20 | 699.5 | 2120 | 400 | 350 | 450
55 | - | - 225SA 510 | 411 | 337 | 3120 | 92 | 850.0 | 22 | 7400 | 222.0 | 500 | 450 | 550
- | 55| 45 | 225sC 510 | 411 | 337 | 3120 | 92 | 880.0 | 22 | 7400 | 2220 | 500 | 450 | 550
75 | - | - 250SA 545 | 499 | 384 |3295| 92 | 8525 | 22 | 7425 | 1825 | 500 | 450 | 550
- | 75| 55 | 250sC 545 | 499 | 384 |3295| 92 | 8825 | 22 | 7425 | 1825 | 500 | 450 | 550
o0 | - | — | 2s0ma | | |54 | 400 | o84 |3205| o2 | o475 | 22 | eavs | 2300 | 500 | 450 | 550
- e | 75 | 250MC 545 | 499 | 384 |3295| 92 | 977.5 | 22 | 8375 | 2300 | 500 | 450 | 550
SHAFT EXTENSION BEARING APPROX.
WEIGHT
G GA DRIVE END g;lf,gsl‘s'LED KGS
200LA | 185| 5 | 55 | 110 | 80 | 16 | 49.0 | 59.0 |  M20x40 631222C3 | 621222C3 355
200,C | 185| 5 | 60 | 140 | 110 | 18 | 53.0 | 64.0 |  M20x40 631427 621277 385
205SA | 185| 5 | 55 | 110 | 80 | 16 | 49.0 | 59.0 |  M20x40 631222C3 | 621222C3 470
2055C | 185 | 5 | 65 | 140 | 110 | 18 | 580 | 69.0 |  M20x40 631522 621322 500
250SA | 185 | 5 | 55 | 110 | 80 | 16 | 49.0 | 59.0 | M20x40 6313C3 6313C3 500
250SC | 185| 5 | 75 | 140 | 110 | 20 | 675 | 795 |  M20x40 NU316 6313 565
250MA | 185| 5 | 55 | 110 | 80 | 16 | 49.0 | 59.0 |  M20x40 6313C3 6313C3 590
250MC | 185 | 5 | 75 | 140 | 110 | 20 | 675 | 795 |  M20x40 NU316 6313 640

Note:
1. Tolerance of Shaft End Diameter D : @55 ~@75 : m6

2. Tolerance of N:j6
page 14



Totally Enclosed Fan - Cooled

HB

HB

AC

30

<
=

Dimension in mm

LB

LD

7

ja~)

Vertical Type, Squirrel - Cage Rotor.

DRIVE END
GRIP EXTENSION OF
GREASE DISCHARGER

NON DRIVE END
GRIP EXTENSION OF
GREASE DISCHARGER

)

AE

AD

Output (kW)
6P
10| - | - 610 | 610 | 455 | 55 | 110 | 80 | 104 | 16 | 49 | 59 | 383 | 1012
280S
- | 110 | 90 610 | 610 | 455 | 85 | 170 | 140 | 157 | 22 | 76 | 90 | 383 | 1072
8
~M32 | - | - 610 | 610 | 455 | 55 | 110 | 80 | 104 | 16 | 49 | 59 | 383 | 1101
280M
~ | 132 | 110 610 | 610 | 455 | 85 | 170 | 140 | 157 | 22 | 76 | 90 | 383 | 1161
BEARING APPROX.
WEIGHT
OPPOSITE
DRIVEEND o 090 KGS
25 | 902 | 156 | 600 | 550 | 660 | 24 6 | 585 | 585 6314C3 6314C3 740
280S
25 | 902 | 156 | 600 | 550 | 660 | 24 6 | 560 | 535 | NU320C3 6316 820
25 | 991 | 200 | 600 | 550 | 660 | 24 6 | 585 | 585 6314C3 6314C3 790
280M
25 | 991 | 200 | 600 | 550 | 660 | 24 6 | 560 | 535 | NU320C3 6316 895
Note:

1. Tolerance of Shaft End Diameter D : m6
2. Tolerance of N :js6

3. Usable Shaft Length : EE
4. *For Direct Flexible Coupling

LRI DR IRERRIT B C 2SN

BEHORNBRIFPELGLIZEET S E0HY i?’d)'é_:z‘_-ﬁ( IS,

= W

Sl ety

= - 1
e
. -

o S,




SGS SGS

@@ @ CE€ @occooaa

BESAAE

N & O Rk

HBK Dk RIZR MV
BEREE—5
ga—N)IvihgTRDSN =,
EL - A4

HEEEIE
TECO JAPAN =#itksiatt

FEREARERAED
TEL: 03-3435-9729 FAX:03-3578-8381

http://www.teco-japan.com

JUL. 14/TA-5603



